
Solution to Harvard Puzzle  #2(2) 

S L E E P C L I V E S
T I A T E H A R E M T
E N T H D E F T C A R
R E L E A S E L A L A
N H E A V E D E C I M
T E P R O V O S T S P
O R E S W E A T U P E
N D R E P R E S S A F
A R S T A C E T A R E
S E L A N A T A L S C
A P E P A L G R E E T

 

The omitted letters (in parentheses in the list below) spell 
ALAN M GARBER 

 
Across 
1. SLEEP 
2. CLIVE 
3. S(A)TIATE 
4. HAREM 
5. TENTH 
6. DE(L)FT 
7. CARREL 
8. EASEL 
9. ALAN 
10. HEAVE 
11. DECIM(A)TE 
12. PROVOST 
13. SPORE 
14. SWEAT 
15. UPEND 
16. REPRESS 
17. AFAR 
18. STA(N)CE 
19. TARE 
20. SEL(M)A 
21. NATAL 
22. SCAPE 
23. PAL 
24. GREET 

Down 
1. STERN 
2. TON(G)A 
3. SALINE 
4. HE(A)RD 
5. REPEAT 
6. LEPER 
7. SLEET 
8. HEARSE 
9. TAPPED 
10. AVOW 
11. PANACHE 
12. SEVER 
13. CALLA 
14. FEDO(R)A 
15. (B)EET 
16. GIRT 
17. LEST 
18. STARVE 
19. CACTUS 
20. ALEE 
21. MALI 
22. SPARSE 
23. STR(E)AM 
24. PE(R)FECT 

 
Kevin Wald solved the puzzle in 35 minutes. 


